
Instrukcja Montażu

ASSEMBLY INSTRUCTION 

MONTAGEANLEITUNG

INSTRUKCE K MONTÁŽI

INSTRUCTION DU MONTAGE 

ИНСТРУКЦИЯ ПО СБОРКЕ 

M048

I

A B

C

x1 

x1 

x1 x4 

I

1

I

2A

B

C

Wyspa



II

A

x6 x1 

II1

1

max.

-1

2

A 90°



II2

90°

II3

90°



II5

90°

II4

90°



III1

1

max.

-1

2

A 90°

III

D

x6 x1 



III2

90°

III3

90°



III4

90°

III5

90°



III2

90°

III3

90°



III3

90°

III4

90°



x1 

x4

M4x20 M5x20 M6x20 M8x30

M4 M5 M6 M8

 x4 x4 x4 

x2 

x4 x4 x4 x4 

x4 x4 x4 x4 

x1 x4 

1

2

3 4

A

E

F

G G1 G2 G3 G4

B C D

x4 

TV



4

3

G1

G2 G3 G4

2

1



400 mm

20
0

m
m

300 mm

30
0

m
m

200 mm

40
0

m
m

400 mm

200 mm

20
0

m
m

30
0

m
m

400 mm
300 mm
200 mm

20
0

m
m

A B

C D
E

3

19”- 46”

max 35 kg

3

1

E

F
E

F


